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Q1) Circle the correct option:  

1) 1426 + 1025+1693 =1693 + 1025 +______ 

a) 1025                 b) 1693                   c) 0                  d) 1426 

2) The difference of the face value of 9 in 4392 and the place value of 4 is______ 

a) 2319                b) 3491                    c) 3991              d) 3661 

3)  10 tens less than 4835 is _________ 

a) 3835                 b) 5825                  c) 4735                d) 3753 

4) 2874 + 5072 =________+ 2874 

a) 1                        b) 0                      c) 5072                d) 2874 

Q2) Round off the given pairs of numbers to their nearest 1000 and find their actual and 

estimated sums. 

            a)   5 7 3 2   + 1 2 0 4                              

            b)   4 0 3 1 +   2 7 5 6                                                        

                                                

     

Q3) Find the difference between the predecessor of the number 5689 and 7000. 

 

 

Q4) Add the numbers on both sides in each row and compare the sums using <, > and = 

a) 1025 + 456             1005 + 121 

 

b) 7236 + 1200            6214 + 1263 
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Maths Assignment-2 on 10-07-2024 

   Portion: Ch 2 Addition 

          Ch 3 Subtraction till page no 44 

     

     

 



Q5) Match the columns. 

               COLUMN I                                                                 COLUMN II 

a) (3076 + 2431) +1624=_______+(2431+1624)                       i) 9178 

b)  1890 +_______ =1890                                                          ii) 900 

c) Smallest 4-digit number – 100                                               iii) 3076 

d) 9178 -_____= 0                                                                       iv) 0 

                                                                                                     v) 1 

 

a)______,   b)_______,        c)_______,      d)_______ 

 

 

Q6) There were 5036 male and 2718 female participants in a marathon run. What  

       is the total number of participants that took part in the marathon? 
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